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<fXMI version= 1.0 encoding= Ulfr-& 7>

<characterisation>
<resolution><frame idref="eq" xsi:type="FrameRef"/><value>5.2</value> </resolution>
<resolution><frame idref="wl" xsi:type="FrameRef"/><value>0.5</value> </resolution>
<gsampling_precision><frame xsi:type="Frame'><ucd>pos.eq</ucd><unit>pixel</unit></frame><value>0.02</value><float/></sampling_precision>
<gsampling_precision><frame idref="wl" xsi:type="FrameRef"/><value>0.25</value></sampling_precision>
<coverage>
] 3 g QUANTITY =STC COORDINATE
<coordinate size="2">
<frame id="eq" xsi:type="Frame"><ucd>pos.eq</ucd><unit>deg</unit><float/></frame>
<values><value>28.4</value><value>-20.0</value></values>
</coordinate>
<coordinate>
<frame id="wl" xsi:type="Frame"><ucd>em.wl</ucd><unit>Angstrom</unit><float/></frame>
<value>4500.2</value><error>0.28</error>

</coordinate>

<coordSys ref="CS"/>

</location>

<bounds>

<limits size="2"><frame idref="eq" xsi:type="FrameRef"/><values><min>28.342 -20.2</min><max>28.481 -19.8</max>
</values></limits>

<limits hi_include="false"><frame idref="wl" xsi:type="FrameRef"/>
<values><min>4402.1</min><max>7200.8</max></values></limits>
</bounds>
<support/>
<sensitivity/> STC COORDSYS
me L
<coordSys id="CS">
<timeFrame><TT/><GEOCENTER/></timeFrame>
<spaceFrame><ICRS/><BARYCENTER/><SPHERICAL naxes="2"/></spaceFrame>
<spectralFrame><HELIOCENTER/></spectralFrame>
</coordSys>
</characterisation>




